An aluminum cup of mass 200 g contains 800 g of water in thermal equilibrium at 80.0°C. The combination of cup and water is cooled uniformly so that the temperature decreases by 1.50°C per minute. At what rate is energy being removed by heat? Express your answer in watts
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where wis for water, ¢ the calorimeter, Cu the copper sample, and wrk the unknown.

[250 £(1.00 caljg°C)+100 (0215 cal/g *C)|20.0-100rC
=~(500 £)(0.092 4 cal/g>C)(20.0-80.0)°C ~(70.0 g)c,,(20.0-100)°C
2.44x10° cal =(5.60x10° g°Ce,

or = 0435 cal/gC

The material of the sampleis beryllium




